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(A) You are appointed as an auditor o
considered before commencing the augd

OR
¢ Companies' Act in respect of *

l'a company. Discuss the points to be
itofa company,

() Discuss the provisions of ),
of Capital™ ws 208.

(1)  State Auditor's duties in fespect of “Share Transfer™,

(B) Inthe following sub-questions, select the correct answer : (any fo

(N Whic!'f of the following is not included in the clauses of
Association of company ?

(@) Name clayse of the company

(b)  Address of Registered office of the o
(¢) Clause of Liability of members

(d) The n hts, liabilities and e ari
shmchfﬁdem_ an n of various lypes of
(2)  As per the requirem olathe Comp 1€ gap between date of
profit and |ogs account da M shiould not exceed :
(@) 6 months ‘ ) 3 months
(p)_‘ 9 mon () 4 months
3) "Acgordin Aﬁu companies Act the percentage of dividend op
capi 0 ore than-
e

s
9 (b) 5%

0 d) 12%

€S can not be issued from the following sources:

eral Reserve (b) Capital Redemption Reserve

7

y.

(c) valuation Reserve (d)  Security Premium
: _-Minimum time lag required between two bonus ISSUCS i§ :
—(a) 12 months (6) 24 months
(c) months (d)  None of the above
}/(un/u::fsccurities premium be wilized 1o convert partly paid up shares in to
fully paid up shares as bonys ?
(@) No
(b) Yes

(¢)  Can be utilised if articles of Association of the Company provides.
(d) Companies Act does not provide anything with respect (o this.
S P.T.O.
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“True & Fair View™ used in Audit Repont.

(A) Explain the meaning of the phrase iy Centificate. 14

Distinguish between Audit Report an
et OR

: ' _ . 1.
~(1) Discuss the imponance of Audil RCP‘:I Qualifie d Report. -

(ii) Distingyish between Clean Report an “ngwer : (any four) p
kg GoltGing sub-questions, sclect t3¢ :(_m‘ccl ditor expected to address his
(1% To which of the following parties 1S the au
Report :
(a) Sharcholder of the company
(b) Board of Dircctors of the company

(¢) Central Government

(d) Company Secretary ‘ +
(2) If the auditor has given a qualified report. which of the following

consequences may result: . . _
(a) The Board of Directors have to give reply 10 such qualifi

7

Board's Repont *
(b) The Board of Directors have 10 resign

(c) Auditor has to resign ‘
The Central Government may l_mPOsc afh s h
43" To which of the following partics is the f d

Centificate :
(a) Board of Directors of the co

(b) Central Governmnent |
P
y
l lected and considered facts.

(c) Sharcholder o
(b) Repon

(d)  Not addres
(4)/3__ '
(d) None ol the above

of auditor's report should not be -

than the date on which the accounts are approved by the
anagement. |

ter than the date on which the accounts are approved in the Board's
meeting.
(¢) the datec of AGM.
(d) both (b) and (c).
(6) In which circumstances clean Audit Report can be given ?
(a) Profit and Loss Account does not give a true and fair view of profit or

er.
o address his

C

loss.
(b) When Balance Sheet does not give true and fair view of the state of
AfMairs.

(c)  Proper books of accounts ure kept as required by law.
(d) Defectis found in examination of accounts.

vQ-113 ¢
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3.

(A) What is divisible profit 7 Explain the guiding Pfinciplg, for calculating divisible

profit. 1
OR .

(1) Siate the auditor's duties rt:gnfding fiivisib]g profit. -
(i) From the following information of Keshay Limited. determine its divisible
rofit for the vear 2017-18.

Profit / Loss before Dtpl‘tclnlinn as per
Dgprtriltiﬂll T Cﬂmp.u}' Law ¥

- 2,80,000 4,20,000
- 2,00,000 2,80,000 1,80,000
< + 12.50,000 2,50,000 -

(B) Inthe following sub-questions, select the correct answer : (any three)

(l) Proﬁ[ of a company for current year is T 10.00.000. Cﬂltﬂlﬂlf.‘ t
required to be transferred o General Reserves, if the comnp:
dividend on share capital @ 14%.
(a) T 25.000 (b) T 50,000
(¢) X75000 (d) ¥1,00,000

(2) Mmﬁl that is to be distributed among s -
-~ of dividend is called: prescribed rate

- " (@) Divisible profit
(c) Reserve prolit

(3) A Which of the follo ving is Dle In computi IVisi
/d b J computing divisible
(@)  The generally es of accountancy should be followed.
(b)  The pro mpanies’ act must be strictly complied with.
(¢) The the Memorandum and Anticle of Association must

tion of the company must be maintained by any means.
following statements is not correct for the divisible profit ?

| 14) % .

0 dividend can be declared without providing for depreciation on
: ixed assets.

¢ Board of Directors can declare interim dividend.
i ,,E/ Dividend cannot be declared from the profil prior to incorporation.

(d)  The members of the company have the power to raise the rate of
dividend being declared by the Board of Directors in the general

meeting.
(3) Which of the following statements is not a consequence of over valuation of
‘\‘\3? pl‘DﬁlS ?
/

~ (@) Itmay result into payment of dividend out of capital.
/ (b)  This will protect the Interest of the debenture holders and creditors.
(¢) More profits will attract more ax liabilities.

(d) It will result into more payment of managerial remuneration - if based
on profits,

113 7
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9. (A) What s an audit ngl':.'lmmt 7 pmpgrc an audil programme of Educaliuml

Institution, 14
OR . |

Ass in briel the points to be considered while preparing an audit
< programie. _ 7
___At)  Distinguish between Audit und Investigation. 7
A(B) In the following sub-questions, select the correct answer ; (any three) 3

(1)  Which of following statements is correct 7 o
(8) The term ‘Investipation' implies an examination of accounts and

records for some special purpose -
(b) Investigation is compulsory under the Comru}nles a}tl:
(€)  Audit Report must incorporate the details of investigation.
(d) The Investigation is always carricd out as per the msuucunn‘ss
!

%
by SEBI.
10
S pr
L
rec in the books.

(2)  Which one of the following points is not relevant in relation to in
ired to be considered for

(@) FExaminations of reasons for increase in the pérce

(b) Inérease in the price of raw materials.

(c) Closing stock might have been o

, "fd) The purchases are omitted

{3) Which one of the followi

“Investigation ivusc of s

(a) Embezzlement Bf ca:

(b) Then
(c) Di

when there is considerable increase in gross profit in sp
figure ?
[ -

irectors of the company.
vestigation to be covered.

ccounting system adopted by the competitors
System of internal check
\_/ Technical details of business or institution
(d) Report of the previous auditor. o
\_ (5). Which of the following stalements is not correct in regard (O verification
_J and valuation of assets and liabilities, while preparing an audit programme
of a college ?
(a) Cash on hand and balance with bank should i
(b) The stock of stationery and furniture should be physt!
(c)  All the debts and liabilities should have been accounted for. —
(d) The investment made for specific purpose should have been
properly.

be vcriﬁ_td as usual.
cally verified.
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